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Practice  Video  Tools  Games

Another Look!

4 cm
5cm
2cm
10 cm 4 cm
8 cm

What is the volume of the solid figure?

Make sure you find
the #, w, and h of

each rectangular

%

of Prisms
\_

Additional
Practice 11-3
Combine Volumes

prism.
Separate the solid figure | Find the volume of each Add the volumes.
into rectangular prisms. rectangular prism.
320 +40=360
Prism A: Prism B:
V=¢xwxh V=¢xwxh So, the volume
10 em 4em | V=8%X10x%x4 V=4x%x5x2 of the solid figure
- V=280x4 V=20x2 is 360 cm?>,
dem V=320 V=40
5cm
Dn 1-6, find the volume of each solid figure. /
1. 2. 1 cm 3 3.
4 cr}\ =
8 cm
3 3cm
n.
4 cm 7H
3in. 8 cm
7 cm
192 ¢cm3
4., 5m 5. 6.
6m 3m
13 ft
9m
3ft 8 in.
10m 13 f 46 .
‘|6 m n.
4 ft . 3
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Xln 7 and 8, use the drawing of the solid figure. /

7. Find two different ways to separate the solid figure into two ' 5in.
rectangular prisms. Draw a line on each figure below to show 4in.
each way.
) 7 in.
One Way Another Way Sin.
5in. 5in. .
4 in. 4 in. Zin. .
2in. 6 in.
7 in. 7 in. 5in.
5in. 5in.
2 in. : 2in. |
. 6in. . /6 in.
2in. 2in. How can you find the
Sin. Sin. dimensions of the two

. . smaller solids?
8. Model with Math Choose one way that you found. Write

and solve an equation for the volume of each rectangular
prism. Then find the volume of the solid figure.

160 cubic inches; Sample answer: 5 x 6 x 2 = 60 and
5xU4x5=100;60 + 100 = 160

9. Higher Order Thinking Ashley is 10. Algebra Write an expression you can
stacking two boxes on a shelf. The bottom use to find the volume of the cube. Then
box measures 6 inches long, 5 inches find the volume if y = 9 feet.

wide, and 5 inches high. The top box is a
cube with one edge measuring 4 inches.

What is the volume of this stack? Explain. 7

214 cubic inches; Sample answer: y

Bottom box: 6 x 5 x 5 = 150. y

Top box: 4 x U x 4 = 6L4. Add y xyxy; 729 fi3

150 + 64 = 214,

@ Assessment Practice |

11. Paul wants to build this model with clay, but he does
not know how much clay to purchase. A horizontal
line separates the model into two rectangular prisms.
Write an expression for the volume of the model.

@x5x3)+(5x5xU)
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